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J-324

Paper -l
MANAGEMENT ACCOUNTING
Time Allowed : Three Hours

Maximum Marks : 75

Minimum Pass Marks : 25
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Attempt all the five questions. One question from
each unit is compulsory. All questions carry equal
marks.
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Define management accounting. Discuss its

nature, importance, role, scope and functions.
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What is ratio analysis ? Point out its advantage.
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"A fund flow statement is better than income

statement." Discuss.

3rar OR
=1 3lidsl I Ade yaE fqaRor &R
FAFGIT F TBE 50,000
= wwfa @& foe 7,60,000
JHe H 37 IR g 5,00,000
T Fwfi # & 1,00,000
I TRE H g 60,000
ey IR H OBH 70,000
T A H HE 40,000
T aTa 4,00,000

9y AT afc & ar 3fud e H S wad ol



J-324

(3)

Prepare a cash flow statement :

Cash from operation 50,000
Sale of Fixed Assets 7,60,000
Issue of share for cash 5,00,000
Increase in Current Assets 1,00,000
Increase in Current Liabilities 60,000
Decrease in Current Assets 70,000

Decrease in Current Liabilities 40,000

Repayment of Loan Taken 4,00,000
You may assume the balancing amount in any
under the suitable head.
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What is the role of marginal costing in the

decision of 'Make or Buy' ?
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From a factory records, calculate B.E.P. in

rupees :
Fixed cost I 20,000
Selling price (per kg) % 20
Variable cost (per kg) 3 15
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Estimate the impact of the following on B.E.P. :

(i) 10% increase in the fixed cost
(i) 20% increase in variable cost
(i) 20% increase in fixed cost and 20%
decrease in variable cost.
gbR-IV / UNIT-IV
FRERIE o gibd & 3@eRon, fadwar, @y g
FAT P FHFRC|
What do you understand by 'Responsibility

Accounting' concept, features, advantages and
shortcomings ?
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The expenses budget for production of 1,000 unit

in a factory are given below :

3
Material 50
Labour 30
Variable overhead 20
Fixed overhead 10
Direct expenses 5
Selling expenses (X 5,000 fixed) 15

Distribution expenses (20% fixed) 10

Administrative expenses (100% fixed) 6
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Prepare a budget for a production of a 800 units
and 600 units and find out the unit cost at each
level.
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What is meant by 'Standard Costing' ? Discuss
its advantages.
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What do you understand by variances ? Explain

their different types.
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